OSDAV Public School, Kaithal
May Test ,2024
Class : X
Subject : Social Science (SetA)

Time: 35 min. M.M. : 20
General Instructions:-

All questions are compulsory

Q.No. Questions(Political Science) Marks
1 What is the official religion of Sri Lanka? 1
a)Buddhism b) Christianity c) Islam. d)Hinduism
2 20 % of the people of Brussels Speak......... ? 1
A. Dutch. B. English C. German D. Italian
3 Belgium Shares borders with France, the Netherlands, Germany and ...... ? 1
A. England B. Norway B. Luxembourg D. Italy
4 The people whose forefathers came from India to Sri Lanka as plantation workers 1
during the colonial period are called.......
A. Sri Lankan Tamils B. Indian Tamils
C. keralites D. Indian Sri Lankans
5 Match the List I with List 11 1
LIST I LIST 11
i.Power shared among different organs of A. community
government government
Ii. Power shared among governments at different B. Separation of powers
levels
iii Power shared by different social groups C. Coalition government
iv Power shared by two or more political parties D. federal Government
a) i-D,ii-A, iii-B, iv- C c). i-B, ii-C, iii-D ,iv-A
b). i-B, ii-D , iii-A ,iv-C d). i- C, ii-D, iii-A, iv-B
6 Which statement justifies ethnic complexity of Sri Lanka ? 1
a) Sinhalese -80% & Tamils -20% B. Sinhalese -60% & Tamils -40%
b) Sinhalese -74% & Tamils -18 %  D. Sinhalese -76% & Tamils -18%
7 One Word Type- 1
A believe that the majority community should be able to rule a country in whichever way
it wants to is known as ------
8 True or False— 1
The Union Government lays down the powers in India.
9 ASSERTION & REASONING Type 1

There are two statements marked as Assertion & Reason .

Read the statements and chose the correct option.

Assertion: In Belgium ,the leaders took a path of mutually acceptable arrangements for
sharing power.

Reason: The leaders have realized that the unity of the country is possible by respecting
the feelings and interests of different communities and regions.
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(a) Both Assertion and Reason are true and Reason is the correct explanation of Assertion.
(b) Both Assertion and Reason are true but Reason is not the correct explanation of
Assertion.

(c) The Assertion is true but the Reason is false.

(d) The Assertion is false but Reason are true.

10 In which continent is Belgium located ?
Geography
11 Name two main types of resources found in India.
12 How many countries heads participated in Rio de Janeiro Earth Summit, 1992 ?
13 How much area is under plains in India?
14 Correct and rewrite the following Statement —
Khadar is a type of black soil.
15 In which of the following states mountain soil is predominantly found in India?
i) Haryana i) Sikkim iii) Gujarat iv)Punjab
16 Which of the following states is more suitable for crops like cashew nut?
i) Gujarat i) Madhya Pradesh iii) Tamil Nadu iv)Mizoram
17 Name any two important factors which are responsible for formation of soil.
18 Name any one state of India where net sown area is over 80 percent of its total area.
19 Write any one step to control the soil erosion in the hilly areas.
20 In which of the river basin area ravines are generally found in India.
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OSDAV Public School, Kaithal
May Test, 2024
Class : x
Subject : Social Science
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Time: 1 hr 10 min. M.M. : 20 ( SetB)
General Instructions:-
All questions are compulsory.
Q.No. Objective Type Questions Marks
1 What are the two major communities in Belgium ? 1
i)Dutch speaking , French speaking ii)Dutch speaking , German Speaking
iii)French speaking ,German speaking iv) German speaking, Spanish speaking
2 The system of ¢ checks and balance’ comes under which form of power sharing ? | 1
A Horizontal power sharing B. Vertical Power sharing
C.Coalition system D.Alienation
3 The word ‘ethnic’ signifies 1
a) Different religion
b)Social division on basis of shared culture
c) A violent conflict between opposing groups
d) Careful calculations of gains and losses .
4 Read and rewrite the correct statement. 1
The Dutch people wanted a separate political state called Eelam
5 Match the List | and List Il 1
LIST I LIST 1l
I.The proportion of Sri Lankan Tamils A. Unitary method of governance
ii. Prudential reason of power sharing B. 1%
stresses on
iii Sri Lanka adopted C. the stability of political order
iv The percentage of Germans in Belgium D. 13%
a) .i-D,ii-C, iii-A, iv- B b) i-B, ii-C, iii-D ,iv-A
c) .i-B,ii-D, iii-A |iv-C d) i- C, ii-D, iii-A, iv-B
6 In India , power sharing mechanism does not directly involve 1
a) Judiciary b) Legislature c) Executive d) Industry
7 One Word Type- 1
A violent conflict between opposite groups within a country is known as .----
8 True or False— 1

To resolve the ongoing conflict the Sri Lankan government adopted the principles of
accomodation .

Page 1 of 2/ MAY TEST x Set-b




ASSERTION REASONING QUESTIONS-
There are two statements marked as Assertion & Reason .
Read the statements and choose the correct option.

Assertion: Power sharing is good for democracy

Reason: It helps to reduce the possibility of conflicts between social groups ..

(a) Both Assertion and Reason are true and Reason is the correct explanation of
Assertion.

(b) Both Assertion and Reason are true but Reason is not the correct explanation of
Assertion.

(c) The Assertion is true but the Reason is false.

(d) The Assertion is false but Reason are true.

10 What is the capital of Belgium ?----
Geography
11 Name any two types of resources on the basis of ownership.
12 In which year Rio de Janeiro Earth Summit was held in Brazil ?
13 What is the total area of India?
14 Correct and rewrite the following Statement —
Regur is the another name of alluvial soil.
15 In which of the following states black soil is predominantly found in India?
i) Punjab ii) Rajasthan iii) Maharashtra iv) Kerala
16 Which of the following states is more suitable for crops like cotton?
1) Jharkhand ii) Maharashtra iii) Bihar iv) Sikkim
17 Name any two factors on which soils of India are classified in different parts.
18 Name any one state of India where net sown area is less than 10 percent of its
total area.
19 What is the main cause of wind erosion in hilly areas.
20 Write the name given to the land when it becomes unfit for cultivation due to the

formation of deep channels known as gullies.
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OSDAY Public School, Kaithal
First Unit Test (May,2024)
Class : x
Subject : Social Science

( Set A)Answer key

General Instructions:-
All questions are compulsory.

I.

M.M. : 20

QN

0.

Objective Type Questions

Mar
ks

1

What is the official religion of Sri Lanka?
a)Buddhism b) Christianity ¢) Islam d)Hinduism

20 % of the people of Brussels Speak......... ?
A. Dutch B. English C. German D. Italian

Belgium Shares borders with France, the Netherlands, Germany and

A. England B. Norway C .Luxembourg D. Italy

The people whose forefathers came from India to Sri Lanka as
plantation workers during the colonial period are called.......

A. Sri Lankan Tamils B. Indian Tamils C. Keralites D. Indian Sri Lankans

Match the List I with List 11

LISTI LIST II

i.Power shared among different A. community government
organs of government

ii. Power shared among governments | B. Separation of powers
at different levels

iii Power shared by different social C. Coalition government
groups

iv Power shared by two or more D. federal Government
political parties

a) i-D, ii-A, iii-B, iv- C

b) i-B, ii-C, iii-D ,iv-A

¢) .i-B,ii-D, iii-A ,iv-C
i- C, ii-D, iii-A, iv-B

Which statement justifies ethnic complexity of Sri Lanka ?
a) Sinhalese -80% & Tamils -20%
b) Sinhalese -60% & Tamils -40%
¢) Sinhalese -74% & Tamils -18 %

Sinhalese -76% & Tamils -18%

One Word Type-




A believe that the majority community should be able to rule a
country in whichever way it wants to is known as ------

Majoritarianism

True or False—

The Union Government lays down the powers in India.

ASSERTION & REASONING Type
There are two statements marked as Assertion & Reason .
Read the statements and chose the correct option.

Assertion: In Belgium ,the leaders took a path of mutually acceptable
arrangements for sharing power.

Reason: The leaders have realized that the unity of the country is possible by
respecting the feelings and interests of different communities and regions.

(a) Both Assertion and Reason are true and Reason is the correct explanation of
Assertion.

(b) Both Assertion and Reason are true but Reason is not the correct
explanation of Assertion.

(c) The Assertion is true but the Reason is false.

(d) The Assertion is false but Reason are true.

10

In which continent is Belgium located ?

Ans:Europe

11

Name two main types of resources found in India.

Ans: Physical Resources & Man made Resources

12

How many countries heads participated in Rio de Janeiro Earth
Summit, 1992 ? 100

13

How much area is under plains in India? Ans:43%

14

Correct and rewrite the following Statement —
Khadar is a type of black soil.
Ans :Khadar is an alluvial soil Or

Regur is type of Black soil

15

In which of the following states mountain soil is predominantly found in
India?

1) Haryanaii) Sikkim ii1) Gujarat iv)Punjab

16

Which of the following states is more suitable for crops like cashew nut?

1) Gujarat ii) Madhya Pradesh iii) Tamil Nadu iv)Mizoram

17

Name any two important factors which are responsible for formation
of soil.

18

Name any one state of India where net sown area is over 80 percent of
its total area. Ans Punjab/ Haryana

19

Write any one step to control the soil erosion in the hilly areas.

Ans: Vegetation cover,Time,climate

20

In which of the river basin area ravines are generally found in India.

Ans: Chambal




OSDAY Public School, Kaithal
First Unit Test (May,2024)
Class : x
Subject : Social Science

Time: 1 hr 10 min. M.M. : 20
( Set B)Answer key
General Instructions:-
I.  All questions are compulsory.
Q.No | Objective Type Questions Mark
. S
1 What are the two major communities in Belgium ? 1
i)Dutch speaking , French speaking ii)Dutch speaking , German Speaking
iii)French speaking ,German speaking iv) German speaking, Spanish
speaking
2 The system of ‘ checks and balance’ comes under which form of power 1
sharing ?
A Horizontal power sharing =~ Vertical Power sharing C.Coalition system
D.Alienation
3 The word ‘ethnic’ signifies 1
a) Different religion b)Social division on basis of shared culture ¢) A
violent conflict between opposing groups d) Careful calculations of gains
and losses .
4 Read and rewrite the correct statement. 1
The Dutch people wanted a separate political state called Eelam
Ans: The Srilankan Tamils
5 1
Match the List I and List 11
LIST I LIST II
i.The proportion of Sri Lankan Tamils | A. Unitary method of governance
ii. Prudential reason of power sharing | B. 1%
stresses on
iii Sri Lanka adopted C. the stability of political order
iv The percentage of Germans in D. 13%
Belgium
a) .i-D, ii-C, iii-A, iv- B
b) i-B, ii-C, iii-D ,iv-A
¢) .i-B,ii-D,iii-A ,iv-C
i- C, ii-D, iii-A, iv-B
6 In India , power sharing mechanism does not directly involve 1
a) Judiciary b) Legislature ¢) Executive d) Industry
7 One Word Type- 1




A violent conflict between opposite groups within a country is known as .--

True or False—

To resolve the ongoing conflict the Sri Lankan government adopted the
principles of accomodation .

ASSERTION REASONING QUESTIONS-
There are two statements marked as Assertion & Reason .
Read the statements and choose the correct option.

Assertion: Power sharing is good for democracy

Reason: It helps to reduce the possibility of conflicts between social groups ..

(a) Both Assertion and Reason are true and Reason is the correct explanation of
Assertion.

(b) Both Assertion and Reason are true but Reason is not the correct explanation of
Assertion.

(c) The Assertion is true but the Reason is false.

(d) The Assertion is false but Reason are true.

10

What is the capital of Belgium ?----

Ans: Brussels

Geography

11

Name any two types of resources on the basis of ownership.

Ans:Individual,community national & international

12

In which year Rio de Janeiro Earth Summit was held in Brazil ?

Ans:1992

13

What is the total area of India?

Ans:3.28million squre km

14

Correct and rewrite the following Statement —
Regur is the another name of alluvial soil.

Ans:Khadar

15

In which of the following states black soil is predominantly found in India?

1) Punjab ii) Rajasthan ii1)) Maharashtra iv) Kerala

16

Which of the following states is more suitable for crops like cotton?

1) Jharkhand ii) Maharashtra 1ii) Bihar iv) Sikkim

17

Name any two factors on which soils of India are classified in different
parts.

Ans:Colour,thickness,texture,age,chemical and physical properties

18

Name any one state of India where net sown area is less than 10 percent of
its total area.

Ans:Sikkim

19

What is the main cause of wind erosion in hilly areas.

Ans:Deforestation,Fast blowing winds etc

20

Write the name given to the land when it becomes unfit for cultivation due
to the formation of deep channels known as gullies.

Ans:Bad land







